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min(1,2) = 400 —> dptable[2]
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#pragma warning(disable:4996)
#include <stdio.h>

#include <stdlib.h>

#define ull unsigned long long

/] HiEel &= 49| /XE HHFE g

void swap_elements(int* |ist, int index1, int index2) {
int temp = list[index1];
listlindex1] = list[index2];
list[index2] = temp;

}

/] 2 HEo|AM AIZE= partition &

int partition(int* list, int start, int end) {
int i, b;
i =b = start;

int p =end;

while (i <p) {
if (list[i] >= list[p]) {

swap_elements(list, i, b);
b +=1;
}
i +=1;
}
swap_elements(list, b, p);
p=bh;
return p;

}

/2 Y™
int quicksort(int* list, int start, int end) {
if (end - start < 1)
return 0;

int p =partition(list, start, end);
quicksort(list, start, p - 1);
quicksort(list, p + 1, end);

}
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ull find_best(intx array, int n, int x) {
ull= dptable = (ull*)malloc(sizeof(ull)=n); // i70el M4ES A o =& 714 25
(i=1,2,3,...n)

// dptable Z=7| ME
dptable[0] = array[0] = (100 -
dptable[1] = (array[0] + arrayl

x) / 100;

1
ull candi_1 = array[0] + array[1

[

)

)
1) = (100 - x) / 100;
]
1

+ array[2]) * (100 - x) / 100;

ull candi_2 = (array[0] + array[1]
? candi_1 : candi_2;

dptable[2] = (candi_1 < candi_2

// dptable Z&3sHA z2 J71H 37|

if (n>3){
ull candil, candi2, candi2_1,candi2_2;
for (int i =3; i <n; i++t) {

candi1 = dptable[i - 1] + (array[i] = (100 - x) / 100);
candi2_1 = dptablel[i - 3] + array[i - 2] + arrayli - 11;
candi2_2 = dptable[i - 3] + (array[i-2] + array[i-1] + arraylil])

* (100 - x) / 100;
candi2 = (candi2_1 < candi2_2) ? candi2_1 : candi2_2;
dptable[i] = (candi1 < candi2) ? candil : candi2;
}

return dptable(n - 11; // n7le| A&& A o =4 J1A

else
return dptable[2]; // 3702l MES A 0f =2 7+

}

int main(void) {
int n, x; // A&Ee JHE, gels
scanf("%d %d", &n, &x);
int* array = (int*)malloc(sizeof(int)*n); // &&E2| 714 =&

/] AES Tt =

for (int i =0; i <n; i++) {
scanf("%d", &(array[il]));

}

// Holxol w2t &z
if (n<=0)
printf("%d#n", 0);

else if (n==1)
printf("%dn", array[0] = (100 - x) / 100);

else if(n==2)
printf("%dtn", (array[0] + array[1]) * (100 - x) / 100);

else {
quicksort(array, 0, n - 1); // HWEXE
ull sum_price = find_best(array, n, x); // n7ie| AES A mf =4 714
printf("%Ilun", sum_price);
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